{6 iTB_%_a ANSWNSLAREIU (LA FEIUTINEEN )( LA sl
A= LALNZEN )

fia: Yuii: ATUUY:
>3 _ 7.4 _
6 2 5 9
4.3 _ 6 4_
5 6 8 7
4.5 _ 5.4
59 9 6
1 4 3.2
8 7 8 4
5.6 _ 7.4 _
9 7 6 8
1.2 3.2
45 g8 8
T3 4 _6_
3 6 6 8
S.3_ 7.5_
8 2 4 7
1.2_ 6. 3_
9 7 8 8
7.6 _ 2.5 _
5 8 5 3
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& iT 5_8_8 ANSWNSLAREIU (LA FEIUTINZEN )( LA sl
A= WANEAN )

fia: Yuii: ATLUY:
6 2 3 59 20 20
4.3_8_,3 6. 4_2_.5
5 6 5 5 8 7 16 16
4.5_36_ 11 5.4_5

5 9 25 25 9 6 6
1;4_7 3;2_3

8§ 7 32 8 4 4
5.6_3 7. 47,1
9 7 54 6 8 3 73
1,2.5 3,231
4 5 8 8§ 8 2 2
7.3_14_ 2 4.6_38

3 6 3 3 6 8 9

8 2 12 4 7 20 20
9 7 18 8 8

5 8 15 15 5 3 25
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